SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| 400025
MATHEMATICS / 7Tfora

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue Afpaq 3P : 90

General Instructions:

(i)
(i)

(v)

All question are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Section-A

Questions number 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

Which of the following numbers is an irrational number ?
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(A) 16 —4 (B) (3-+3) (3+3)

Q) 5+3 (D) -V

Freferfia § & @ e sfiE 72

(A) 16 -4 (B) (3-43) (3+3)
Q) 5+3 (D) -V

The factors of (2a—b)3 + (b —2¢c)3 +8(c—a)3 are :
(A) (2a=b)(b—2c)(c—a)

(B) 3(2a—b)(b—2c)(c—a)

(C) 6(2a—Db)(b—2c)(c—a)

(D) 2axbx2c

(2a—b)3 + (b—2c)3 +8(c—a)3 & TrETE ¥ :

(A) (2a—Db)(b—2c)(c—a) (B) 3(2a—Db)(b—2c)(c—a)
(©) 6(2a—Db)(b—2c)(c—a) (D) 2axbx2c

If 3 + % = —1, (x, y = 0), then, the value of x3 —y3 is :

() 1 B -1 (©0 ©) ;

Qﬁ§+% =—1,(xy+0)gA3— P FuT:

(4) 1 B -1  (© 0 D) >

The degree of the polynomial p(x)=(x—7)3—x3is:
(A) 3 (B) 2 © 1 (D) 0

TR p(x) =(x—7)3—x3 HI =M@ T :
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A) 3 (B) 2 © 1 (D) 0

From the given figure, identify the incorrect statement, given that [||m and t is
the transversal.

(A) «2and z5aresupplementary (B) «2and 28 are supplementary

(C©) «2and z3aresupplementary (D) «2and 21 are supplementary

& T STpTA | ST HUT RN TEEH S [||m 7o t T forden Y 7

56—t
12 %
4
l m
(A) £23R £5HTH 0L | (B) £2 3R /8 W HE|
(C) £23R /3 HF HUE | (D) £23R /1 6 HOE|

Among the following which is not a criteria for congruence of two triangles ?
(A) SAS (B) ASA (C) SSA (D) SSs
e | S 9 < st & watmem 8 a6t wERl T 2

(A) SAS (B) ASA (C) SSA (D) SSS

The sides of a A are 7cm, 24 cm and 25 cm. Itsareais :
(A) 168 cm’ (B) 84cm’

(C) 87.5cm? (D) 300 cm?
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Ife Uk e &t o 7 9.1, 24 9.4 3R 25 T F, 1 S SN -
(A) 168 @2 (B) 84 d.m?
(C) 87.5@.? (D) 300 H.7.2

The edges of a triangular board are 6 cm, 8 cm and 10 cm. The cost of painting it at
the rate of 9 paise per cm” s :

(A) Rs.2.00 (B) Rs. 3.00 (C) Rs. 2.16 (D) Rs.2.48

e TR Ut & fRR 6 9., 8 ., 3iR 10 .. &1 suent T 1 @ 9 U9 ufq ot |
%! T Y BT :-

(A) 2®9T (B) 3®WT (C) 2.16%9T (D) 2.48®9T

Section-B

Question numbers 9 to 14 carry two marks each.

Express with rational denominator.

5
7 -2
ﬁﬁv&ﬁaa@mﬁamﬁwﬁ%mﬁwﬁm|

Using factor theorem, show that (2x + 1) is a factor of 2x3+3x2 —11x—6.

TUFEE WA 1 WA T gU, Ui R (2x + 1) g8 2x3 + 332 — 11x — 6 1 UFEE ¥

Expand:- (b) (4 - lf

TR R (b) (4 - if

Prove that every line segment has one and only one mid-point.

fag ifsre o ford Tamee &1 T T91 Fhad Tk 77 fog T 8

In the given figure, T is a point on the side QR of APQR and S is a point such
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that TR =TS. Prove that PQ + PR > QS.

Q
S%
P
R
< e a7 H, st PQR &t 451 QR R T fag T @ 3iR S &€ forg 39 yaR & fof TR =TS %1
g wifs fo5 PQ+ PR > QS #1

Q
S
P
R

OR
In figure below, angles x and y are supplementary angles. If Zx=110°, find the
value of y.
C
X
%
+ = £

e smepfa #, x qen y T &8 | Al Lo =110° &, @ y &1 A A6 Hife |

C
x
L
H S £
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14.

15.

16.

17.

The perpendicular distance of a point from the x-axis is 2 units and the
perpendicular distance from the y-axis is 5 units. Write the co-ordinates of such

a point if it lies in the :

(i) IQuadrant (i) II Quadrant

(iti) III Quadrant (iv) IV Quadrant

T fog # x-181 ¥ Aiforss g0 2 e B A0 SR Y- § ik g 5 THEE B 39 fag
fadersr fefam af =%

() I=gafar®g (i) Il =guferd 2

(iii) III =qerfer § & (iv) IV =qefar & &

Section-C

Question numbers 15 to 24 carry three marks each.

-1
Simplify : 875 — 5 x 10° + (Lj 2
144
1
T FT 875 — G x 107 +[ij 2
144
OR
Write the following in the ascending order of their magnitude.
V3,34, Y6
71 =1 aiAToT sh1 AR A H feafa
\/gl '%/Z/ %
.3 2
Simplify : e + 5+ 05
3 2
A ST
5-B 5+

Determine if x3 —3x2+4x —4 is divisible by (x —2)
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18.

19.

M KIS G p(x) = 20— 322+ 4x —4, (x—Z)QWﬁW%I

OR

If 992 + Lz =18, find the positive value of (33/ - LJ

9y 3y

afg 94/ +9L2=18 ‘@rﬁr(w—%)aﬂaﬂmnﬂmaﬂﬁm
y y

Evaluate (105)3, using a suitable identity.

T SUFH GafHeRT BT FAR H g, (105)3 1A fewife |

In the following figure, ray OS stands on line POQ and rays OR and OT are
respectively bisectors of ZPOS and £50Q. If ZPOS=x, find ZROT.

P o Q

T g etmRfa B, fertor OS Wt POQ w et  aen i OR i OT waw: ~POS ik 2SOQ
& gafgaSd €1 afg /\POS=x & @ £ROT 3 wifsa |

OR
In figure, prove that ! || m.
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20.

21.

22,

m
E p
w o /-
B B0 &
-

F
sopfer 8, forg iR 6 1 || m.

I
A
m
B p
80° e /41=
B BYD &

50

Prove that the sum of the angles of a triangle is 180°.

g HifSg o F1s & =1 ron 61 am 180° g & |

In right triangle ABC, ZC=90° M is midpoint of hypotenuse AB. Cis joined to M and
produced to a point D such that DM =CM. Point D is joined to point B. Show that

(i) AAMC =ABMD (i) «DBC = ZACB

T FHh0 f19st ABCH, £C=90°%1 U AB 1 HeAfag M &1 C & M & fiHatet D a 39
bR SGE1 TAT ® T DM =CM &1 D = B & e wn €1 <9ifsw o -

(i) AAMC =ABMD (ii) /DBC = /ACB
D

A

B e

In the figure, AB and CD are respectively the smallest and longest sides of a
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23.

24,

25.

quadrilateral ABCD. Show that ZA> ~ZC

aTFfd §, T =S ABCD i 9ol 9t o Foid SIS ol e CD 9 AB ® 1 gwiize fo LA > £C

In the figure given below, PQ||RS and T is any point as shown in the figure, then
show that /PQT + QTS + Z RST = 360° .

5 Q

<
<

A4

A\ 4

3
<

R S
#Trpfa H, PQ||RS @en T fast # wefifa wa foig B fiag =hifore for
/PQT + £QTS + £ RST = 360°.

P Q

< >
<

A 4

<1}
<

R S
Find the area of a right angled AABC, right angled at B in which AB =24 metre
and BC =10 metre.

T el Bys ABC S fag B @ 99ahviE ® 1 &9%a T hist 519 AB =24 Hiex ae
BC =10 "X ¥

Section-D

Question numbers 25 to 34 carry four marks each.

7+3J§_7—3J§=a+%b
3+V5 3-6

Find the valuesof aand b if :

7313\/\55 3 73—_3\/«55 =a++/5b & daddub & HMF T HifaQ |

OR

Page 9 of 12



26.

27.

28.

29.

JP+2q+p-2q

, then prove that,qxz—px+q =0.
JP+29-\p-2q

Ifx =

af x = VP29 VP29 o 4 i R B 22 pe q =0
JP+2q9-p-29

If x=(2+ %)% +(2- 45)% and y = (2 + \/3)% - (2- \/5)%, then evaluate

X2+ yz.

AR x = (24 V5) 2 + (2- ) 2w y = (24 V5)2 — (2— VB)2 22+ y2 F A T

EAlS

Using factor theorem, find the value of a if (2x% — ax3 + 8x2 — x +4) is divisible

by (2x—1).

TUFETE WA 1 WA A g, g 1 WM 6 i atg (2x —1) @ (x4 —ax3 +8x2 — x +4)

i fafse 21 ST 2|

If a+ b=8, and ab =6, find the value of a3+ b3.

Ifa+b=8ddmab=6, dl a3+ b3 &1 UM 1@ HIfT |

If ¥+ =51, find

X

W&{x2+i2 =51 &, A f=1 1 o 3@ e |
X
@ x-1 (ii) x3—xl3

OR
Using factor theorem, factorise the polynomial.

A+x3-7x2—x+6.

TUFREE WA 1 FE e x4 4 13 — 7x2 — x + 6 % [UHETS it
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30.  Prove that the difference of any two sides of a triangle is less than the third
side.

fag HiIfTT o feqst & fr<l <1 et &1 7R a1 9 %7 g g |

31. In the given figure, the side QR of APQR is produced to the point S. If the
bisectors of /PQR and Z/PRS meet at a point T, prove that ZQTR = % ZQPR.

T

>

Q R S

& T empfa #, APQR &t 951 QR ! fag S @ sl T ¥ A /PQR qd /PRS %
g fog T R e € @ fag wifsy & 4QTR=%4QPR 7

T
P

A 4

Q R S

A P
B/,,NC /I\
N Q ¢ R

Two sides AB and BC and median AM of one triangle ABC are respectively equal to
sides PQ, QR and median PN of APQR. Show that AABC = APQR.

32.

31 19 ABC 3TR PQR 29 ¥R € foF AB = PQ, BC = QR @1 Aifeaeht AM = Hfeaest PN &, @t fog
ifsie f AABC = APQR.

33. In the given figure, S is any point on the side QR of a APQR. Show that
PQ+QR+RP>2PS.
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34.

Q S R

& ¢ stpfa H, APQR &1 9o QR W ®FE fog S 81 <9ifzq f PQ + QR + RP > 2 PS.
P

Q S R

Prove that two triangles are congruent if any two angles and the included side
of one triangle is equal to any two angles and the included side of the other

triangle.

fag Fifse for <1 fryst wafmom €0 € afs w fqe % < < @i iR 76 siaria e g fye
% fordi < I IR AT ST & SR BN |
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